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Yes, we do.

O O

No, we do not.
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Yes, | do.

O O

No, | do not.
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Yes, | do.

No, | do not.
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Yes, it does.

No, it does not.
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O Yes, it does.
O No, it does not.
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Yes, it does.

No, it does not.
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Q Yes, it does.
O No, it does not.
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O No, it does not.
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Type l
Cit Time 08/27 08/28 08/29 08/30 08/31 09/01 09/02
y Sat. Sun. Mon. Tue. Wed. hu. Fri.
oy 5 | & & >
27-32°C 27-30°C 27-31°C 27-31°C 27-31°C 27-30°C 27-29°C
Keelung City ) ) )
‘e & ’ .
27-30°C 27-29°C 27-29°C 27-29°C 27-29°C 27-29°C 27 -28°C
ol ol = ol & &
Day o e . “ “ a 3
27 -36 °C 27-34°C 27 -34°C 27-35°C 27 -34°C 27 -34°C 27-31°C
Taipei City
‘ ) ) ) ) & ‘
27-32°C 27-31°C 27-31°C 27-31°C 27-31°C 27-30°C 26-29°C
N ) a* | | | & '~
EVY ‘ o
28 -36 °C 28-34°C 28-34°C 28-34°C 28-34°C 28-33°C 28-32°C
New Taipei City ) ) )
M 28-34°C 28-31°C 28-31°C 28-31°C 28-31°C 28-31°C 27 -29°C
. " ) o o | & ™S
ay . o e e . U505
27 -36 °C 28-33°C 27-33°C 27 -34°C 27-33°C 27 -33°C 27-32°C
Taoyuan City ) ) ) Y
M 28-32°C 27-31°C 27-31°C 27-31°C 27-31°C 27-30°C 27-29°C




Type 2

08/23
(Tue.)

Time 9:00 12:00 15:00 18:00 21:00

— : x ® 9 I

Temperature 32°C 37°C 35°C 32°C 30 °C

Feels like 37°C 42°C 38 °C 37°C 33°C

Chance of Rain 0% 10 % 0%

Relative Humidity 65 % 49 % 53 % 67 % 67 %

Wind (scale) <1 2 <1 2 4

Wind direction Northeast wind Southeast wind Southeast wind East wind Southeast wind

Comfort Index Hot Hot Hot Hot Comfortable

Type 3

Taipei Today Tonignt Tomorrow

1)zal
City @ Click the map to get

12:00~18:00 18:00~06:00 06:00~18:00 R thetinoraton

More Location

o o %
Favorite  Tips

Township Forecasts

Choose a Townshi -

Submit T 30%

AQI (Station: Zhongshan) &

@ 51

Source: EPA (12/21 13:00:00)
Cities/Counties Forecasts
368 Townships Forecasts
7-day Forecasts

Current Conditions

B AR | PREARE
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(Tue.)

_ 9:00 12:00 15:00 18:00 21:00

el = = & J9 9

32°C 37°C 35°C 32°C 30°C

m 37°C 42°C 38°C 37°C 33°C

0% 10 % 0 %

65 % 49 % 53 % 67 % 67 %

<1 2 <1 2 :

Northeast wind Southeast wind Southeast wind East wind Southeast wind

Hot Hot Hot Hot Comfortable

3. Mr Ar—fll A B AR B Z R R A E A

25°- 28°
“* 100%
sunny cloudy overcast rainy
Pattern 1
S1: What's the weather like?
S2: ltis
Pattern 2

S1: Will it rain?/Do we need an umbrella to go out?

{ Yes, there is chance of rain.

No, there is chance of rain.
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High Temp.

Low Temp.

Chance of Rain

Good ,lam __ . Todayis
Let’s take a look at today’s weather.
It’s today.

The temperature is between and

9/24 9/25
(Sun.) (Mon.)
34°C 37°C
26 °C 32°C
40 % 10 %

Thereis a percent chance of rain.

Have a good day.

degrees Celsius during the day.
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| can do this! F: ] 2 DL -f8f: 2]z !
I’'m getting there! ;2% )»—-F:. |

| need help! B :E 1 & H s !

IRLE
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i
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1. | understand different weather types affect our lives.

B TR R R R AR B g R L B P A B o

2. | know weather can be measured.

Fem-E: R mem LRl 21T o

3. I know we can get the future weather conditions through the weather forecast.
B f- BB B R R TR E Al LU 7R P P90 R0 B R AR B9
R RARLME ©

4. | listen when my classmates are presenting.

e R TE 38 ROAVLBS RS - PR EE H B o

5. 1 share my ideas at the right time.

T FE A0SR 5 LB 0 ALK o

6. | try my best to complete the worksheet.

B RRIR B ) e i BB LB B o

7.1 have done my best.

BB T im0 ) o
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Part 1

T: How is the weather?
Silt's

Part 2

S1: How is the weather?
S2: It’s

Part 1
T: What’s the temperature?

S: The temperature is between and degrees.
Part 2

S1: What’s the temperature?

S2: The temperature is between and degrees.

S1: How is the weather?
S2:It’s .
S2: What's the temperature?

S1: The temperature is between and degrees.
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S1: What is the weather like today?
S2: The temperature will be between and degrees Celsius during the day.
S1: Do you need an umbrella?

S2: Yes/No. There is a percent chance of rain.
S1: How strong is the wind?
S2:It's a on the wind scale.
09/05
m ‘
Time Day Night Day Night Day Night
(‘w\
Weather s R S &
Max. Temp. 28°C 26°C 30°C 28°C 34°C 30°C

100% 90% 80% 30% 30% 40%

Min. Apparent Temp. 28°C 22°C 2°C 24°C 25°C 30°C

Relative Humidity 90% 89% 90% 64% 69% 80%

Wind (Scale) 3 7 >6 5 2 <1
Wind Direction North wind | Northwest wind = West wind | West wind West wind | Southwest wind

Good , lam . Today is
Let’s take a look at today’s weather.
It will be a day today.
The temperature will be between _ and __ degrees during the day.
Thereisa ____ percent chance of rain.

It is a good idea .
The wind will be __ on the wind scale at night.
Be careful

Thanks for joining me for the weather forecast. Have a good day.
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a Word Bank )
\_ J
Animals [GBE—TEkEEY ] [ER—KEEY ] [ER—EKEEY ] [ER—EKESHY ]

How does it

move?

What does
it breathe
with?

BRI U BN A

ELEpL

A: Which parts of the fish help it swim?
B: The fins help fish swim./It moves with
IR0~ A

A: What does it breathe with?

B: It breathes with

SEiAk: T EIES 7 RokEr | BRI R AR AN T LR KA A B - B AR TR
MoKz IR IR AV RRE fR T2 !
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4 Word Bank )
\_ J
Animals [FE—REkEEY ] [ER—8KEEY ] [ER—EKESY] [ER—EKESHY ]

How does it

move?

What does
it breathe
with?

Hillam

The aquatic animal | want to talk about is
It moves with

It breathes in the water with

Thank you for listening. Q
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4 Word Bank

swims with fins
swims with webbed feet
jumps with legs
. crawls with legs

Animals

swims with
How does it webbed feet
move? and jumps with

legs

What does
it breathe gills
with?

AL AR B A

& Ef

A: Which parts of the fish help it swim?
B: The fins help fish swim./It moves with
N ige -

A: What does it breathe with?

B: It breathes with

Ses R Y g 7 Redse | IEARR BN T BRI KA BpE Y A IR RS

MoK BRs IR AV RRE R T2 !

=, 22
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4 Word Bank )
swims with fins gills

swims with webbed feet  ¢in
jumps with legs lungs

. crawls with legs )

Animals
swims with
How does it webbed feet
move? and jumps with
legs

What does
it breathe gills
with?

Hi!lam

The aquatic animal | want to talk about is
It moves with
It breathes in the water with

Thank you for listening. 5&
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| can do this! F:a] 2 LL-#5 21z !

I’'m getting there! ;%% /)»—-"F1 |

| need help! F:E 1 & &l !
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1. | know different types of aquatic plants.

Hoe - B IR AE 1) RO r B R B o

2. l understand the structures of aquatic plants adapted to life in water.

Foe 7 BB KL B B B KR SRRy ST o

3. | know the movements and breathing structures of aquatic animals.

FHe K0+ 8 2oKE AL BYLA B0 B BDL © PR ML R AT R o

4. | listen when my classmates are presenting.

e R TE 38 ROAVLBS RS - T B EE H B o

5. 1 share my ideas at the right time.

3R e 3 = WK O Ela b e 3 : R by

6. | try my best to complete the worksheet.

B BomIKR 8 ) Se s i B BB o

7.1 have done my best.

BB T i REKRMAYBR ] o
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air bags

QO

Salh

air bags soft and thin stems

: The stemﬁ The leaves can :
store air. store air.

QO
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{51]~-8= Which aquatic plant has air bags and can float on the water?
A. @ a water hyacinth  B. D a waterlily C. D a lotus

Fish use lungs to breathe in the water.
Fish use gills to breathe in the water.

Fish use scales to breathe in the water.

gills B. D fins C. D eyes

Their roots are in the soil.
Their stems are usually soft and thin.

Their leaves are small.

Floating-leaved plants live in the water, but free-floating plants don’t.

Floating-leaved plants have roots in the soil, but free-floating plants
don’t.

0 00 000 O 000

Floating-leaved plants have leaves on the water surface, but free-floating

plants don't. .
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It stays the same.

It is blocked.

It is separated into

rainbow colors.
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»

MLMELE LRI AR B0 R IR: 7 EEL Bl Al Ll A S R
BY23ELIEL » Y2 Ll “The is a light source.” Bjx&+ “The are a light
source.” P2 FR23Z: o {5240 : The sunis a light source. °
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A).F+ o The people in the swimming

pool look different because
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S5 LR24E: L “I will see a (reversed, true, bigger) image in the mirror.” 8- 8 {R2 B~
O BB BT R ELF IR EED ? Bl2g0s | will see a reversed image in the

mirror. °

R85 B (R8RS SRR ER AP AV (R M G RV o1& B Pe ml L

e “l saw a reversed image in the mirror” 32 FRLE,

Oo

L

¢RSER: o Fo 0 AR TR AT 8L 0 B S e — 32 8 LAY ERL 0 R
&5 B E: ?
A (5.l 1 Prediction R A9 gL 0 WA FiLL “Iwillseea _ image.”
R o EE BEREBELDETOEHE RER
B 88 2R LB o B 2 A2 Ll “Isawa_ image.” $ it R AL B B BY:

3 2IN

32 U T
ﬁ 2\122\ °©
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AR B9 AR FEe BT @ BY: AR A A B ARl 90 B AY! §RL Fr 38 X
Bt ME—3 8 o REGE R R ?

N &5 [i 1 Prediction ==l gl L2l — P jﬁ}«ﬁfﬁ?‘%”“l—i” “Iwillseea ____ image”
FKiE o WofEm BEB-F 8 B miE 3R 30 Xkl 90 By 0 W2 TEs
R XRAAL A — R (R BLE B 3%?@]:1—[—;@; We: ? Wz Ll- “I saw

image.” {2 R-FrE B B A 8245 o

NX)‘
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BEEA

Fige B B M E R e R RIFRELELR: - BBl —F v
A2 (E2 55+ > B 9o mIe LB Bz St A2 45140 o Bl a0e - Jei A2 2R Ry ~ St
Y 3T B3R R R 8B Y Al B = BB o

»
AR LF ) EE P AL B0 R E: 7 55 B i ml i BB A e IR
B2 FELIFL » W2 LLl- “The is a light source” 8.z “The are a light

source.” 2 FR23Z: o 5240 : The sunis a light source. °

@ a light source.

The sun is not a light source.

QThe stars are a light source.

eThe stars are not a light source.

oThe moon is a light source.

eThe moon is not a light source.

QThe cat’s eyes are a light source.

eThe cat’s eyes are not a light source.

WAEr 0 AR e (R FRL Bl B9 BT o FRE SRR THE 23 W ot B9 2Rks
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Q Light rays travel in a straight line.

@aterreﬁacts the light:

GThe water reflects the light.
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QLight rays travel in a straight line.

QThe water reflects the light.

GThe water refracts the light.
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S5 LR24E: L “I will see a (reversed, true, bigger) image in the mirror.” 8- 8 {R2 B~
BB 8B F-RE o ELE B EED ? 52402 ¢ | will see a reversed image in the

mirror. °

R85 B (R8RSR B8R AP AV (R M G RV o1& B Pe ml L

Fi: “I saw a reversed image in the mirror.” 38z =7 5& o

Prediction (F8-82) :

| will see a (reversed>

true, bigger) image.

Observation (ER: 22:) :

| saw a (reversed)true, bigger) image.

2 oA B9 A fae 15 88 0 B @S G — 32 8 oAV R 0 (R
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€. == EiH: Prediction i By ol 0 WKLl “Iwillseea_ image”
?—EZE:; °© j:ﬁi %m ’ P -E}F M‘*% % T_ %ﬁm% EIJ ﬁi —= SIZm \,}Li é‘? y ;J'(‘a 1@5’;-59- 2
B R == B 1t F“?” 72D “Isawa__ image” &l R B B B A
g o

I8y Prediction (F8-8(:) :

| will see a (reversed,

true, bigger) image.

Observation (ER: 22:) :

| saw a (reversed, true, bigger) image.
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74Y Prediction (T8 8]2) :
| will see a (reversed,

true, bigger) image.
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Observation (#R: £2:) :

| saw a (reversed, true, bigger) image.
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1. | can identify different light sources.
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2. l understand that different things reflect and refract light.
IR B BRI - R RIrBEr AR RGBT EA T
Bf IR R EE o

3. l understand that light rays travel in a straight line.

£33 - 5 A D G = B - SR-TIEP 33

4.1 can make predictions based on what | observe.
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5. I listen when my classmates are presenting their ideas.

R B TE 38 ROAVLBS RS - P B ARV H B o

6. | share my ideas at the right time.

3R e 3 = WKL 1 Eloa b e 3 : R oS

7. 1 try my best to complete the worksheet.

BB IlRI AR B ) ses i AL G L By o

8. | have done my best.
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Light rays travel in a straight line.

The water reflects the light.

. @refracts the li
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() Light rays travel in a straight line.

() The water refracts the light.

(® The water reflects the light.

Way to go! > ! i P BRI B! | 5851+ 28> =« RUL B M2 |
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{F:F%5~—- : The suniis a light source.

{F: 7%« —~ : The water refracts the light. So, we can’t catch the fish in the water.
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Thepeople look The straw looks like

different in water it bends in water

because of refraction. because of refraction.
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EEL R 525 LL- “I will see a (reversed, true, smaller, bigger) image in the mirror” F&-

Alfr- B2 B8 F 85 R Fr 2o ? Fl240s : | will see a reversed

image in the mirror. ©
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Prediction (F&-81:) :

| will see a

Observation (i 2=:¢) :

5 ZI~

| saw a
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B9 Prediction (¥8-381) :

| will see a
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Observation (R 2=¢) :

| saw a
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4 Prediction (F8-8(:) :

| will see a

Observation (EH{%=2¢):

| saw a
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not move.

a5, BRI R B BRI B RELRY B [E]e e o

O Coal is mainly used in power generation.
e O We use lamps to generate electricity.

We use fans to generate natural gas.
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Street lamps are an Coal is an energy Scissors are an

energy source. source. energy source.
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1. | can identify renewable and non-renewable energy sources.

Femle Ll n el A ger R B AN n] B Al gEr Ry ©

2. | know there are different kinds of energy, such as electricity, light, heat,

kinetic energy, and sound.
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3. l understand that mass and energy are interchangeable.
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4.1 can make predictions based on what | observe.

Foe e T BRI S B IR R AT AR

5.1 Iisten when my classmates are presenting their ideas.
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6. | share my ideas at the right time.
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7.1 try my best to complete the worksheet.
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8. | have done my best.
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Coal is a non-renewable energy source.
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o What is one advantage ({2 24%) of using renewable/non-renewable sources

of energy? Think about price ({B:f&¢), safety (%&£ %), or their relationships
with the environment (3R:15+).
Renewable/Non-renewable sources of energy are easy to use . There is no need

for

e Which is better, renewable or non-renewable source of energy?
| think sources of energy are better than sources of energy

because they are




